15.3 Algebra of Functions Name

e Ifxisinthe domain of two functions f and g then

o (f+g)(x)=T(x)+9(x)
o (f-g9)(x¥)=f(x)-9(x)
o (f-9)()="f(x)-g(x)
(éj (x) = % where g(x) =0

Solve functions algebraically given f(x)=3x—-5 and g(X)=x*+7

1. (f+9)(4) - 2. (F+9)(x)_

Solve functions algebraically given f(x)=6x+3and g(x) =4x*-1

3. (fe0)(2)= 4. (feg)(X)_

Composite of Function
Letf and g be two functions such that g(X) is in the domain of f(x) forall X in the domain of g(x). The

composition of the two functions is denoted by

We can visualize the composition of functions as follows. ( fo g)(x)
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A composition machine for f{g(x))

Outputs, flg(x)) *
or (feg)(x)

e Find(fog)(2), (g f)(2), (fog)(x),and (gef)(x)



5. f(x)=2x+1; g(x)=x*-5

f(x)=x"+8; g(x)=+x+17

7. f(X)=x+11 g(x) :i2
X



